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“Unit-4(Maths-4)Lec-2
Statistical Techniques-ll
Topic: Binomial Probability Distribution o+
There are two type of theoretical probability distribution
v
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* Discrete probability distribution v—> Binomsal, Porssion, eort
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In Binomial probability distribution, there are p_éindep\e/ndent trials
in an experiment . Let p be probability of success and q be
probability of failure in a single trial (p+q=1).

Let X be random variable which denote no. of succes
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Unit-4(Maths-4)Lec-3
Statistical Techniques-Il
Topic: Binomial Probability Distribution(part-2)
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Unit-4 (Maths-4) (Let) By —TMoulka Mittal)

Statistical Techniques-lI (M)
Topic : Poission Distribution ~ (Dicoth RV ) y
In Binomial Distribution, we have already studied n and p.
If n is very large and p is very small. n-> No ¢ bals
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Show that Poission Distribution is a particular limiting case of

Binomial Distribution ,when p is very small and n is very large.
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Topic : Poission Distribution (Part 2)
Examples based upon Poission Distribution ./

Fxi T4 Vauance 0& Ppicsion Dishibudion wy & - Fnd e
PAﬂloa'oiQin ;1‘” T™=1,2,73, 4 :l/wm, /’u-cwreme,\//-
on aa» Poiccion dictnbukion Mso ff‘lhd P(‘;>/'-l)

C@X-—v): 22" [aeoins. - | 20R]
}

]

[ Por= o2’

. =) v .OL
Mo — Noniemce = [2=7P | Irpomem 0
Recuwente  Relakion Plrv) = AP =2
= @
Y =| 2= N =np =2, PR 39(1 3X='|8011
. 2 ote) =3, P(w) = %Lf’l?»h -
b0 = T+l i / .\353“'&§0£ = gree = o
v=0 , pC) = 2Plo)= X By L- [P0+ P+ P2
=1, PR - %p(.): *a306, +P]

= |- ['1353+ 930 6+.'f8?;0‘f]+

Fx!> In @ cerudn rfoujv? mamx{a&w"nﬁ razer blades
/{I«Mﬂ—.}ou/&wﬂ (’,Mn(e,éio-_og,g,_{m’wuﬂ_
bede 0 be dw"u__)j’g__ﬂ-« The blades one AuHoL‘eaL
v packek of 10, Vse Auituble clishibudion 40
Clewdat e abproxivade mmlau'/e& })a.duh Cordufvu'va_
“"No A!—PUJWLL ,‘/Owﬂ/ AM__ML ond 7 Two ol_.,’LanLp
bloduw MI)MNJ# n a CDnsianm.u«i’ BJ— 50,000
pasies [Akrv 2018 ]
g plefedat) = 002




n= 10 |
np = lox002 = | 02 -:aj\/

. ' = £0,000
No 6 Packeh CDM)‘T"_W@M;:)AO 6-01(.01)0
_>5 P(No dfehwd) = P(r=0) = 2o - e oo

= °q802
ﬂPP_,DX' MO 01‘ M‘Qh = 50,0'00)(0(]@07_ —
= 449,0!0
o ol -t DL
e =t (*02)__ *01960
| !

50,000 X * 01960

|1
o

Mpprox  No 0] Packen

= 980
. _ p ﬁ_&)
5 Pl Top duferhine) . (r o, o
- -'Q"‘\Z' = © (l °%’ _ oool1960y
23 9]

- Q802 X» 1o Packeots

g

=
‘E

\l

‘F"Q?ILU’IUUJ
Deaths ] L. 4 3 l{]
(=
Fw,umuw . 12 ¢ I8 4 . o?ola)
_,-) T
= = \’)-;3)
o e
0




e 2t
0 119,\ 0 = 200
\ 6o
AL [N-g00 |~
3| 4 6
T A . B
200 |OD)
b
_e7A
v\ PO ST | N.PE) |k
Q00x &% (+$)°
l 51 19]-206 (2]
00 x> C'S)'
|: ) e = - 6o’ 65 ~ 6|
& P(’)_) = —é'S C'S) = : s
27 g0 x g5 (S) s ey 15
s |pw = &P E
900 x & (5 _ sz * 3

g
ply) = 25 (9 2
" HI( 2 o0 X E S(’-")l’ =
2

al
b

oy

2 ey

Fri» FAnd Momend i
Wvﬁ *fu'nch'ow ? Poission D ishibukion

Po = & a”

o X 1 oty 2- - o Hao imd Mean and
J Veavance D i¢hibudio
n.
Mu(2) = Efe“} = e,“’P(*) !
"1 B b o
e ADe ) & e &2
2e e 2 - 27 (€) £\ *
~ ] =0 T \ @’2)









Unit-4 (Maths-4) (Le(—6) (By- Mok

Statistical Techniques-ll MiHal
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Topic : Normal Distribution ./

The Normal Distribution is continuous distribution.It is limiting case of Binomial
Distribution when no of trials n is very large and prob. Of success is closeto /2 .

X ~ N{M)":',L) AL > Mean, «° =Vav p v
.._L(l_:__. v v ~ P
U ol g <D b
S R ,
P _j(u] = =7 - e 2 Den ﬁ‘(pDF)

v ;\L —+wo }:w\arvdem BJ_ Normadl distnblion

Heat ‘/M, a
M
T
OJ Nosrad :Dis"ﬁbuhon 1o called Mogmal Cuant
1 Lell WGL ond Samwﬁnca.( albout Mwan L
T4 0 - _

Tn Nosmal Dishibudion
AL CWICI qyucliqn

megn M )mﬂ

Cuue abone X- s

0

)£ 1. %\//
Bosic P/‘p/)&__jl'f)__ A/
-%_[x:_ﬂ)l
PDF _ T
Jh) 23 T £

() Jofﬂﬂ dio g = A

W JbJ) 30 e v



v

* The Normal Distribution is symmetrical about its mean. v
* The mean, mode, median of Normal distribution coincide. v
* Total area under curveis 1. v

Standard Normal Distributiog
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Conditional Probability

: /
The prob. of happening of an Event A ,when event B is

already happened is called conditional probability.
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PART-2

BAYE'S THEOREM N
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